Вариант 9
Задание B7 (№ 63239)

Найдите значение выражения [image: image1.png]T
-/»\/ng;sini
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Задание B7 (№ 63283)

Найдите значение выражения [image: image2.png]T 3n
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Задание B7 (№ 63333)

Найдите значение выражения [image: image3.png]sin(—2E) cos(




.

Задание B7 (№ 63463)

Найдите значение выражения [image: image4.png]33v/2cos(495°)
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Задание B7 (№ 63533)

Найдите значение выражения [image: image5.png]—20V3tg(—210°)
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Задание B7 (№ 63661)

Найдите значение выражения [image: image6.png]loﬁcos(—g) sin(—=





Задание B7 (№ 63773)

Найдите значение выражения [image: image7.png]


.

Задание B7 (№ 63821)

Найдите значение выражения [image: image8.png]231g59°
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Задание B7 (№ 64103)

Найдите значение выражения [image: image9.png]€0s266° + cos2156°
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Задание B7 (№ 64217)

Найдите [image: image10.png]o



, если [image: image11.png]


 и [image: image12.png]oe (1,5m2n)



.

Задание B7 (№ 64351)

Найдите [image: image13.png]


, если [image: image14.png]


 и [image: image15.png]oe (1,5m2n)
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Задание B7 (№ 64427)

Найдите [image: image16.png]22cos20



, если [image: image17.png]sinot = —




.

Задание B7 (№ 64473)

Найдите [image: image18.png]3sindo

5cos20



, если [image: image19.png]sin2a = —0,1
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Задание B7 (№ 64567)

Найдите значение выражения [image: image20.png]4cos(3n—f) —sin(35+ )
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Задание B7 (№ 64633)

Найдите значение выражения [image: image21.png]3sin(o 4 2m) —2cos(3 + o)
2sin(o—2m)




.

Задание B7 (№ 64703)

Найдите значение выражения [image: image22.png]—3tg(2n+y) +2tg(—Yy)



, если [image: image23.png]tgy
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Задание B7 (№ 64777)

Найдите [image: image24.png]s
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, если [image: image25.png]sina = —0,28



и [image: image26.png]oe (x1,5%)
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Задание B7 (№ 65231)

Найдите [image: image27.png]Jcosa —4sina
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, если [image: image28.png]e
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Задание B7 (№ 65033)

Найдите [image: image29.png]tg(at3)



, если [image: image30.png]e




.

Задание B7 (№ 64903)

Найдите [image: image31.png]i
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, если [image: image32.png]3
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 и [image: image33.png]oe (1,5m2n)
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Задание B7 (№ 65277)

Найдите [image: image34.png]Scoso—2Zsina+ 12
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, если [image: image35.png]e
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Задание B7 (№ 65327)

Найдите [image: image36.png]o



, если [image: image37.png]2sinat Zeoso
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Задание B7 (№ 65495)

Найдите значение выражения [image: image38.png]n
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, если [image: image39.png]sin
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Задание B7 (№ 65433)

Найдите значение выражения [image: image40.png]2cos(—m+B) + 55in(§+ B)



, если [image: image41.png]
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Задание B7 (№ 65561)

Найдите [image: image42.png]12cos2a



, если [image: image43.png]cosa = -

e



.

